


"Question 1.
Emstmg Earnings = 10% of Rs. 10,00,000 = Rs. 1,00, OOO
Calculation of Existing E.P.S.

Rs.
Earnings before Interest and Tax (EBIT) 1,00,000
Less : Interest on 5% Debentures 20,000
Profits Before Tax (PBF) 80,000
Less Income Tax @ 50% 40,000
Profits After Tax (PAT) : 40,000
Less Dividend on 8% Redeemable Preference Shares 16,000
. Profits available for Equity Shareholiders . 24,000
24000
Hmstmg Earnings per Sharc (EP.S.) = 20, 20.000 - =06
Earmngs after Additional Investment = 10% of Rs. 12,00,000
y = Rs. 1,20,000
Calculation of Proposed E.P.S. under Different Alternatives
i s Debenture | Preference |  Equity
| Particulate Plan__|Share Plan| Share Plan
P Earnings Before Interest and Tax (EBIT) 1,20,000 | 1,20,000 -| 1,20,000
: Less Interest on Debentures : | e
Existing @ 5% 20,000 20,000 20,000
Proposed @ 5% 10,000 - > -

—  Profits Before Tax (PBT) - 90,000 | 1,00,000 1,00,000 .
Less Income Tax @ 50% 45,000 50,000 50,000
Profits After Tax (PAT) 45,000 50,000 50,000
‘Less Preference Shares Dividend :

"Existing @ 8% 16,000 16,000 16,000

- Proposed @ 8% - 16,000 -
Profits available. for Equity Shareholders 29,000 18,000 34,000
Earnings per Share | 29,000 *| _ 18,000 |-_ 34,000
o ~ 40,000 ~ 40,000 60,000
. EPS =078 | =045 =057
© Initial EP.S.- 060 | 060 060
ilncrease/Decrease Over Initial E.P. S, (+)0:13 | (£)0:15 (—):'03

. ' lysis, ‘Debenture Issue Plan’ is the best because

i 45 clope trom-the showe DR by Re. 0-13. Thereforc, ‘chenturc
it existing carning per share is increasing by

¢ Plan’ should be preferre

d for additional fmancc




Scanned with Cam










